ShoreStation

HAO0094
BUNK POLY V80-100132H HOIST SS

This new bunk assembly is designed to be a full replacement for the carpeted wood bunks, and consists of an
aluminum extrusion with a vinyl covering to protect your boat. It is designed to give the same flex and support as
the carpeted wood bunks.

Installation Instructions

Remove the old bunk assemblies from your hoist by removing the 3/8 flange lock nuts and the 3/8” x 1" hex bolts
that attach the carpeted bunks to the upright adjustable bunk brackets.

Now that the bunks have been removed you will now remove the hex nuts, lock washers, flat washers, and the u-
bolts holding the adjustable bracket to the platform. To maintain the same height with the new poly bunks as you
had with the wood ones you will need to set the adjustable brackets up one hole. These will now be replaced with
the stainless steel u-bolt and flat washers along with a brass lock nut with a nylon insert. You will repeat this
process on the remaining brackets.

The bunks assemblies are completely assembled at the factory and are ready to be installed on your hoist. Note
that the bunk brackets installed in the new bunk system are mounted differently on each end. The one end has
the bunk bracket secured in position by a dart in the aluminum extrusion and a 3/8" x 4" carriage bolt while on the
other end the bunk bracket is allowed to move up and down the extrusion.

Midwest Industries, Inc. Ida Grove, |A 51445 800-859-3028 www.shorestation.com 0004184
Page 1 of 2 03/17/2010




It is recommended that the end of the new bunk assembly with the bunk bracket secured be placed on the end of
the hoist where the transom of the boat will be located when it is on the hoist.

Attach the new bunk assembly to the upright adjustable bunk bracket using the 3/8” x 1" stainless steel hex bolt
provided with the new bunk assemblies. Secure in place with a 3/8” stainless steel flat washer and a 3/8” brass
lock nut with nylon insert.
Align the other end of the bunk assembly over the upright adjustable bunk bracket on the other platform. Move the
bracket until it is positioned next to the upright adjustable bunk bracket. Attach this bunk bracket to the upright
adjustable bunk bracket using another 3/8” x 1” stainless steel hex bolt and secure in place with a 3/8” stainless
steel flat washer and a 3/8” brass lock nut with nylon insert.

ITEM

PART #

DESCRIPTION QTY

69032

BUNK ASSY [4FT POLY

69148

ADJ BUNK BRKT(BOAT LIFT)

0150040

HH 3/8-16 X | CS STAINLESS

0350401

SUB I/2-13 X 8 9/16 X 3 §§

1350095

WASHER USS FLAT 3/8 STAINLESS

1350100

WASHER USS FLAT [/2 STAINLESS

1440366

HEX LOCKNUT 3/8 BRASS/NYLON INSERT

o | |o|o|s|w|rm|[—

1440367

PS0 FSO - O (G I P Y

HEX LOCKNUT 1/2-13 BRASS/NYLON

Midwest Industries, Inc. Ida Grove, IA 51445
Page 2 of 2

800-859-3028

SEE DETAIL A

DETAIL A
SCALE  0.250

www.shorestation.com

Once both ends of the new bunk assembly are secured to the upright adjustable
bunk brackets, tighten the bolts just installed but do not over tighten. The
bunk assemblies must be allowed to rotate so they will conform to the
boat bottom.

Repeat this process on the other bunk assembly.

Once the bunks are installed and positioned
make sure the boat does not contact
the platform at any time during
loading, unloading, or the
raising process.

Adjustment is
complete.

0004184
03/17/2010



